
Answer 1

In[1]:= Final width at h �2 will be w
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The force from exact solution for case1
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The final width will be 2 w
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The force from exact solution for case2

In[6]:= F = pave2 *2 w *d
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The approximate average for case 1 is,

pave1 = 1.15 Yf K1 +
Μ w
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The approximate average for case 2 is,
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Answer 2

The cavity should be full at the lowest slug height 0.97 L H-3 %L
SolveB Π

4
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3
 Π 0.13, LF

88L ® 0.244368<<

Maximum length of flash can be calculated by,

Max. volume of wire = volume of ball + volume of flash



L = 0.244

0.244

SolveB Π

4
0.152 1.03 L �

4

3
 Π 0.13 +

Π

4
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88Df ® -0.322914<, 8Df ® 0.322914<<

rf = 0.323 �2;
r = 0.1;

Τ = 60 000;

Μ = 0.1;

h = 0.005;

pave =
2 Τ
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h 2 Π r1 âr1

476 277.

F = pave Π rf
2

39 026.1

Note that 39, 026 psi is overestimation. We could approximate ball and flash separately as well.
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